
CHEMISTRY

BOOKS - ACCURATE PUBLICATION

SOLUTIONS

Multiple Choice Questions

1. Which of the following aqueous solution

should have the highest boiling point ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mpQKmXP2eFgR


A. 1.0 M NaOH

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.0MNa2SO4

1.0MNH4NO3

1.0MKNO3

2. The Unit of ebulioscopic constant is _______

A. K kg mol − 1or K (molality) − 1

https://dl.doubtnut.com/l/_mpQKmXP2eFgR
https://dl.doubtnut.com/l/_QsK6LUAWqg5o


B.  (molality)

C.  (molality)

D.  or K (molality)

Answer: A

Watch Video Solution

mol kg K − 1or K− 1

kg mol − 1K1or K− 1

K  mol kg− 1

3. In comparison to a 0.01 m solution of

glucose, the depression in freezing point of a

0.01 m  solution is _______MgCl2

https://dl.doubtnut.com/l/_QsK6LUAWqg5o
https://dl.doubtnut.com/l/_TJk7UWV6M4bZ


A. the same

B. about twice

C. about three times

D. about six times

Answer: C

Watch Video Solution

4. The Values of Van't Hoff factors for KCL NaCl

and  respectively, are _____K2SO4

https://dl.doubtnut.com/l/_TJk7UWV6M4bZ
https://dl.doubtnut.com/l/_PebTLDzNZUu1


A. 2,2 and 2

B. 2,2 and 3

C. 1,1 and 2

D. 1,1 and 1

Answer: B

Watch Video Solution

5. Two beakers of capacity 500 mL were taken.

One of these beakers, labelled as ''A'' was filled

with 400 mL water whereas the beaker

https://dl.doubtnut.com/l/_PebTLDzNZUu1
https://dl.doubtnut.com/l/_zZVG9Kx70ftb


labelled ''B'' was filled with 400 mL of 2 M

solution of NaCl. At the same temperature

both the beakers were placed in closed

containers of same material and same capacity

as shown in figure given below. At given

temperature, which of the following statement

is correct about the Vapour pressure of pure

water and that of NaCl solution.

A. Vapour pressure in container (A) is more

than that in container (b)

https://dl.doubtnut.com/l/_zZVG9Kx70ftb


B. Vapour pressure in container (A) is less

than in container (B)

C. Vapour pressure is equal in both the

containers.

D. Vapour pressure in container (b) is twice

the Vapour pressure in container (A)

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_zZVG9Kx70ftb


6. We have three aqueous solutions of NaCl

labelled as 'A', 'B' and 'C' with concentrations

0.1M, 0.01 and 0.001M, respectively. The Value

of Van't Hoff factor for these solutions will be

in the oder

A. 

B. 

C. 

D. 

Answer: C

iA < iB < ic

ia > iB > ic

iA = iB = ic

iA < iB > ic

https://dl.doubtnut.com/l/_sMju7JOwOgSl


Watch Video Solution

7. 4L of 0.02 M aqueous solution of NaCI was

diluted by adding one litre of water. The

molality of the resultant solution is ________

A. 0.004

B. 0.008

C. 0.012

D. 0.016

Answer: D

https://dl.doubtnut.com/l/_sMju7JOwOgSl
https://dl.doubtnut.com/l/_p15VyxCCscTD


Watch Video Solution

8.  Value for 

 (g) are

40.39, 1.67,  and 0.413 respectively.

Arrange these gases in the order of their

increasing solubility.

A. 

B. 

C. 

KH

Ar(g), CO2(g), HCHO(g) and CH4

1.83 × 10− 5

HCHO < CH4 < CO2 < Ar

HCHO < CO2 < CH4 < Ar

Ar < CO2 < CH4 < HCHO

https://dl.doubtnut.com/l/_p15VyxCCscTD
https://dl.doubtnut.com/l/_AuTSeD7m5vGC


D. 

Answer: C

Watch Video Solution

Ar < CH4 < CO2 < HCHO

9. Which of the following solution shows

maximum depression in freezing point.

A. 

B. 1 M NaCl

C. 

0.5MLi2SO4

0.5MAl2(SO4)3

https://dl.doubtnut.com/l/_AuTSeD7m5vGC
https://dl.doubtnut.com/l/_oPyR2V10j2ZX


D. 

Answer: C

Watch Video Solution

0.5MBaCl2

10. Molality of pure water is……………… .

A. 55.5

B. 20

C. 18

D. 10

https://dl.doubtnut.com/l/_oPyR2V10j2ZX
https://dl.doubtnut.com/l/_UPpUjKDe3iir


Answer: A

Watch Video Solution

11. The number of moles of NaCl in 3 litres of 3

M solution is:

A. 1

B. 3

C. 9

D. 27

https://dl.doubtnut.com/l/_UPpUjKDe3iir
https://dl.doubtnut.com/l/_7i9qO6aqICvT


Answer: C

Watch Video Solution

12. The amount of solute required to prepare

10 litres of decimolar solution is:

A. 0.01 mole

B. 0.2 mole

C. 0.05 mole

D. 1.0 mole

https://dl.doubtnut.com/l/_7i9qO6aqICvT
https://dl.doubtnut.com/l/_MVOLFGTVOE20


Answer: D

Watch Video Solution

13. One kilogram of water contains 4 g of

NaOH. The concentration of the solution is

best expressed as:

A. 0.1 molal

B. 0.1 molar

C. decinormal

D. about 0.1 mole

https://dl.doubtnut.com/l/_MVOLFGTVOE20
https://dl.doubtnut.com/l/_r4LUBJNCtNkm


Answer: A

Watch Video Solution

14. The number of moles of NaCl in 3 litres of 3

M solution is:

A. 1

B. 3

C. 9

D. 27

https://dl.doubtnut.com/l/_r4LUBJNCtNkm
https://dl.doubtnut.com/l/_KETtDQ10sSxz


Answer: C

Watch Video Solution

15. When 0.6 g of urea is dissolved in 100 g

water, the water will boil at (Kb, for water =

0.52 K/m and normal boiling point of water

):

A. 372.48 K

B. 273.52K

C. 373.052 K

= 100∘ C

https://dl.doubtnut.com/l/_KETtDQ10sSxz
https://dl.doubtnut.com/l/_9ZkG3Q0rTsiI


D. 273.052 K

Answer: C

Watch Video Solution

16. A solution of solute X'in benzene boils at

 higher than benzene. What is the

molality of the solution ? 

(  for benzene = 2.52 K/m)

A. 0.05

0.126K

Kb

https://dl.doubtnut.com/l/_9ZkG3Q0rTsiI
https://dl.doubtnut.com/l/_7RNlUmi9hTbH


B. 2

C. 1

D. 20

Answer: A

Watch Video Solution

17. The osmotic pressure of 0.2 molar solution

of urea at  (R=0.082 litre atm 

 is

27∘ C

mol − 1K − 1)

https://dl.doubtnut.com/l/_7RNlUmi9hTbH
https://dl.doubtnut.com/l/_WmjUl49iFRPt


A. 4.92 atm

B. 1 atm

C. 0.2 atm

D. 27 atm

Answer: A

Watch Video Solution

18. Which one of the following pairs of

solutions can be expected to be isotonic at

the same temperature ?

https://dl.doubtnut.com/l/_WmjUl49iFRPt
https://dl.doubtnut.com/l/_hLNiS88zbRmQ


A. 0.1 M urea and 0.1 M NaCl

B. 0.1 M urea and 0.1 M MgCl

C. 0.1 M NaCl and 0.1 M 

D.  and 

Answer: D

Watch Video Solution

Na2SO4

0.1MCa(NO3)2 0.1MNa2SO4

19. A 3 g of urea is dissolved in 45 g of 

The relative lowering in Vapour pressure is

H2O

https://dl.doubtnut.com/l/_hLNiS88zbRmQ
https://dl.doubtnut.com/l/_0iHtAmgUYKCF


A. 0.05

B. 0.04

C. 0.02

D. 0.01

Answer: C

Watch Video Solution

20. Which of the following aqueous solution

will exhibit highest boiling point ?

https://dl.doubtnut.com/l/_0iHtAmgUYKCF
https://dl.doubtnut.com/l/_7wyNfEmCEJl5


A. 0.01 M urea

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.01M KNO3

0.01M N2SO4

0.015MC6H12O6

21. The elevation in boiling point of a solution

13.44 g of  in 1 kg of water usingCuCl2

https://dl.doubtnut.com/l/_7wyNfEmCEJl5
https://dl.doubtnut.com/l/_xXmfn0htgi5A


following information will be (molecular wt. of

 =0.52K/molal)

A. 0.16

B. 0.05

C. 0.1

D. 0.2

Answer: A

Watch Video Solution

CuCl2 = 134.4, kb

https://dl.doubtnut.com/l/_xXmfn0htgi5A


22. Dissolving 120g of urea (mol.wt 60) in

1000g of water gave a solution of density

1.15g/ml. The molarity of solution is:

A. 1.78M

B. 2M

C. 2.05M

D. 2.22M

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_C2iuesKYxUaw


23. To observe an elevation of boiling point at

 , the amount of solute (mol.wt =100)

to be added to 100g of water  is

A. 2 g

B. 0.5 g

C. 1 g

D. 0.75 g

Answer: C

Watch Video Solution

0.05∘ C

(kb = 0.5)

https://dl.doubtnut.com/l/_u7YFbY5QkArK


24. The degree of ionization of HF in 0.100m

aqueous solution is (freezing point of the

solution  and  for water 

)

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

= − 0.197∘ C kf

= 1.86∘ C

6 %

12 %

3 %

9 %

https://dl.doubtnut.com/l/_SHvYiBfQ6H99


25. The vapour pressure of two liquids P and Q

are 80 and 60 torr respectively. The total

vapour pressure of solution obtained by

mixing 3 mol of P and 2 mol of Q would be.

A. 72 torr

B. 140 torr

C. 68 torr

D. 20 torr

https://dl.doubtnut.com/l/_SHvYiBfQ6H99
https://dl.doubtnut.com/l/_czjkwjwwuDty


Answer: A

Watch Video Solution

26. In a 0.2 molal aqueus solution of a weak

acid HX the degree of dissociation is 0.25. The

freezing point of the solution will be nearest

to: ( )


a) 


b) 



c) 


d) 

Kf = 1.86Kkgmol − 1

−0.26∘ C

0.465∘ C

−0.48∘ C

−0.465∘ C

https://dl.doubtnut.com/l/_czjkwjwwuDty
https://dl.doubtnut.com/l/_Sm0VPy09pprc


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−0.56K

−1.12K

0.56K

1.12K

27. Which of the following 0.10 m aqueous

solution will have the lowest freezing point?

https://dl.doubtnut.com/l/_Sm0VPy09pprc
https://dl.doubtnut.com/l/_c54TjX7xo92i


A. KCl

B. 

C. 

D. 

Answer: B

Watch Video Solution

C6H12O6

Al2(SO4)

K2SO4

28. Mole fraction of the solute in 1 molal

aqueous solution is

https://dl.doubtnut.com/l/_c54TjX7xo92i
https://dl.doubtnut.com/l/_mct1eK0GuNCS


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.1770

0.0177

0.0344

1.7700

29. 1 g of non - electrolyte solute (molar mass

250 g/mol) was dissolved in 5.12g of benzene.

If the freezing point of depression constant,

https://dl.doubtnut.com/l/_mct1eK0GuNCS
https://dl.doubtnut.com/l/_BcsIbdQ3DCMG


 of benzene is 5.12 K kg/mol, the freezing

point of benzene will be lowered by

A. 0.3 K

B. 0.5 K

C. 0.2 K

D. 0.4 K

Answer: D

Watch Video Solution

kf

https://dl.doubtnut.com/l/_BcsIbdQ3DCMG


30. The temperature at which 10% aqueous

solution of glucose will exhibit the osmotic

pressure of 16.4 atm is ( 

atm/K/mol)

A. 

B. 80 K

C. 90 K

D. 360 K

Answer: D

Watch Video Solution

R = 0.082dm3

360∘ C

https://dl.doubtnut.com/l/_JYiFclFB89TY


Watch Video Solution

31. The number of moles of NaCl in 5 liters of

5M solution is:

A. 1

B. 25

C. 125

D. 5

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_JYiFclFB89TY
https://dl.doubtnut.com/l/_NYGmVRcMhE92


32. When the solute is present in trace

quantities, the following expression is used

A. Gram per million

B. milli gram percent

C. micro gram percent

D. parts per million

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_NYGmVRcMhE92
https://dl.doubtnut.com/l/_vqJkBbRk2ZWN


33. Low concentration of oxygen in the blood

and tissues of people living. At high altitude is

due to:

A. Low temperature

B. Low atmospheric pressure

C. high atmospheric pressure

D. both low atmospheric pressure and high

atmospheric pressure

Answer: B

https://dl.doubtnut.com/l/_4NfsLRKpBuYg


Watch Video Solution

34. Which of the following mixture does not

show positive deviation from the Raoult,s Law?

A. Methanol and acetone

B. Chloroform and acetone

C. Nitric acid and water

D. Phenol and aniline

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_4NfsLRKpBuYg
https://dl.doubtnut.com/l/_ysTtlYmrcJPx


35. Which of the following aqueous solution

should have the highest boiling point ?

A. 1.0M NaOH

B. 

C. 

D. 

Answer: B

Watch Video Solution

1.0MNa2SO4

1.0MNH4NO3

1.0MKNO3

https://dl.doubtnut.com/l/_ysTtlYmrcJPx
https://dl.doubtnut.com/l/_I5S1mavLZ4Nu


36. In comparison to a 0.01 M solution of

glucose, the depression in freezing point of a

0.01M  solution is :

A. the same

B. about twice

C. about three times

D. about six times

Answer: C

Watch Video Solution

MgCl2

https://dl.doubtnut.com/l/_DYpsiiU9WhW9


37. A fruit or vegetable placed in a

concentrated salt solution to prepare pickle,

shrivels because

A. it gains water due to osmosis

B. it loses water due to reverse osmosis

C. it gains water due to reverse osmosis

D. it loses water due to osmosis

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_1Z5MtgOPlOTw


38. The value of Henry's constant  is :

A. greater for gases with higher solubility

B. it loses water due to reverse osmosis

C. constant for all gases

D. not release to the solubility of gases

Answer: B

Watch Video Solution

KH

https://dl.doubtnut.com/l/_m06bCHRsgWtP


39. If molality of the dilute solution is doubled,

the value of molal depression constant  will

be

A. halved

B. tripled

C. unchanged

D. doubled

Answer: C

Watch Video Solution

Kf

https://dl.doubtnut.com/l/_Aw7vPNfFCy2s


40. A solution containing 500 g of a protein

per liter is isotonic with a solution containing

3.42 g sucrose per liter. The molecular mass of

protein in 5 x , hence x is.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10x

300g mol − 1

350g mol − 1

200g mol − 1

250g mol − 1

https://dl.doubtnut.com/l/_MajrEJGidHkw


41.  (sulphury chloride) reacts with

water to given a mixture of .

What volume of  in needed to

completely neutralize  of 

solution :

A. 5.55 mL

B. 0 mL

C. 20 mL

D. 30 mL

SO2CI2

H2SO4 and HCI

0.2MBa(OH)2

25mL 0.2MSO2CI2

https://dl.doubtnut.com/l/_MajrEJGidHkw
https://dl.doubtnut.com/l/_AnRa2zYoxcQm


Answer: A

Watch Video Solution

42. What is mole fraction of solute in 1.00 m

solution:

A. 0.0354

B. 0.0177

C. 0.177

D. 1.770

https://dl.doubtnut.com/l/_AnRa2zYoxcQm
https://dl.doubtnut.com/l/_UH6xdPX5lOCa


Answer: B

Watch Video Solution

43. At  , the vapour pressure of a

solution of 6.5 g of solute in 100 g of water is

732 mm. If  is 0.52 klm, the boiling point of

solution will be:

A. 

B. 

C. 

100∘ C

kb

102∘ C

103∘ C

101∘ C

https://dl.doubtnut.com/l/_UH6xdPX5lOCa
https://dl.doubtnut.com/l/_cjafLR34lCSC


D. 

Answer: C

Watch Video Solution

100∘ C

44. Which of the following is not correct for

ideal solution?

A. 

B. 

C. 

ΔH min = 0

ΔV min = 0

ΔP = Pobs − Pcalculated = 0

https://dl.doubtnut.com/l/_cjafLR34lCSC
https://dl.doubtnut.com/l/_mJxUgUFs9qJj


D. 

Answer: D

Watch Video Solution

ΔGmix = 0

45. 18 g of glucose is dissolved in 1 kg of water.

At what temperature will the solution boil ? (

 for water is 0.52 K kg )

A. 

B. 

Kb mol − 1

99.052∘ C

100∘ C

https://dl.doubtnut.com/l/_mJxUgUFs9qJj
https://dl.doubtnut.com/l/_kbhMLf0Bvd6N


C. 

D. 

Answer: C

Watch Video Solution

100.052∘ C

99∘ C

46. The osmotic pressure of 0.2 molar solution

of urea at  (R=0.082 litre atm 

 is

A. 

27∘ C

mol − 1K − 1)

360∘ C

https://dl.doubtnut.com/l/_kbhMLf0Bvd6N
https://dl.doubtnut.com/l/_9kh6eOisxBxS


B. 180 K

C. 300 K

D. 360 K

Answer: D

Watch Video Solution

47. Out of 1 M urea and 1M KCl solution, which

has higher freezing point?

A. 1 M glucose

https://dl.doubtnut.com/l/_9kh6eOisxBxS
https://dl.doubtnut.com/l/_73yko84t0nAh


B. 1M NaCl

C. 1M 

D. 1M 

Answer: A

Watch Video Solution

CaCl2

AlF3

48. The depression in freezing point is directly

proportional to

A. mole fraction of solution

https://dl.doubtnut.com/l/_73yko84t0nAh
https://dl.doubtnut.com/l/_oMWRz3dAdus7


B. molarity of solution

C. molality of solution

D. molarity of solution

Answer: C

Watch Video Solution

49. A 5.2 molal aqueous solution of methyl

alcohol  is supplied. What is the mole

fraction of methyl alcohol in the solution ?

CH3OH

https://dl.doubtnut.com/l/_oMWRz3dAdus7
https://dl.doubtnut.com/l/_QVOQ5KJ5fPBj


A. 0.086

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.050

0.100

0.190

50.  is a

A. solution of solid in solid

CuSO4 ⋅ 5H2O

https://dl.doubtnut.com/l/_QVOQ5KJ5fPBj
https://dl.doubtnut.com/l/_jzL8gNJWeNUz


B. solution of liquid in solid

C. salt of  in water

D. co-ordination compound of copper

sulpate with water moleculos.

Answer: D

Watch Video Solution

CuSO4

51. Which is a colligative property?

A. Osmotic pressure

https://dl.doubtnut.com/l/_jzL8gNJWeNUz
https://dl.doubtnut.com/l/_7fiAb0AfvMCM


B. Free energy

C. heat of vaporization

D. change in pressure

Answer: A

Watch Video Solution

52. Van't Hoff factor of  is :

A. One

B. Two

Ca(NO3)2

https://dl.doubtnut.com/l/_7fiAb0AfvMCM
https://dl.doubtnut.com/l/_A96zQdptwe6e


C. Three

D. Four

Answer: C

Watch Video Solution

53. Which of the following units is useful in

relating concentration of solution with its

vapour pressure ?

A. mole fraction

https://dl.doubtnut.com/l/_A96zQdptwe6e
https://dl.doubtnut.com/l/_OFV7mOxlkt2R


B. parts per million

C. mass percentage

D. molality

Answer: A

Watch Video Solution

54. The Unit of ebulioscopic constant is _______

A.  or K 

B.  or  (molality)

K kg mol − 1 (molality) − 1

molkgK − 1 K − 1

https://dl.doubtnut.com/l/_OFV7mOxlkt2R
https://dl.doubtnut.com/l/_7fBpizk74Hgj


C. 

D.  or K (molality)

Answer: A

Watch Video Solution

kg mol − 1K − 1(molality) − 1

K mol kg− 1

55. The values of Van't Hoff factors for KBr,

NaBr and  respectively are

A. 2,2 and 2

B. 2,2 and 3

Na2SO4

https://dl.doubtnut.com/l/_7fBpizk74Hgj
https://dl.doubtnut.com/l/_9nZf2aQjai3G


C. 1, 1 and 2

D. 1,1 and 1

Answer: B

Watch Video Solution

56. Molality of expressed in

A. grams/litre

B. Litre/moles

C. Moles/litre

https://dl.doubtnut.com/l/_9nZf2aQjai3G
https://dl.doubtnut.com/l/_6ke9fGKBHdGD


D. Mole/kg

Answer: D

Watch Video Solution

57. Which of the not affected by temperature ?

A. Normality

B. Molality

C. Molarity

D. none of these

https://dl.doubtnut.com/l/_6ke9fGKBHdGD
https://dl.doubtnut.com/l/_cLk1WZBQd3uN


Answer: B

Watch Video Solution

58. What is Van't Hoff factor ?

A. zero

B. 

C. less than 1

D. more than 1

Answer: C

1.0

https://dl.doubtnut.com/l/_cLk1WZBQd3uN
https://dl.doubtnut.com/l/_IrPmDLUOa7f2


Watch Video Solution

59. In crystal structure of sodium chloride, the

arrangement of Cl ions is

A. decrease the boiling point

B. increase the boiling point

C. prevent the breaking of eggs

D. make eggs tasty

Answer: B

https://dl.doubtnut.com/l/_IrPmDLUOa7f2
https://dl.doubtnut.com/l/_DWbFbnTBYmqb


Watch Video Solution

60. The Van't Hoff factor (i) accounts for

A. a) degree of solubilisation of solute

B. b) the extent of dissociation of solute

C. c) the extent of dissolution of solute

D. d) the degree of decomposition of

solution

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_DWbFbnTBYmqb
https://dl.doubtnut.com/l/_abbHveul8P7g


61. Molarity of 0.4 N  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2SO4

0.2

0.8

0.6

0.1

https://dl.doubtnut.com/l/_abbHveul8P7g
https://dl.doubtnut.com/l/_6p3rpT4vHOgw
https://dl.doubtnut.com/l/_e0BpudXKloOr


62. What happens when isotonic solution of A

(mol wt. 342) and B (mol. Wt. 60) are put into

communication through semipermeable

membrane

A. Transference of solvent from A to B

B. transference of solvent from B to A

C. no transference of solvent from A to B

D. Temperature of solutions changes

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_e0BpudXKloOr


63. Which of the following does not show

positive deviation from Raoult's law ?

A. Benzene +acetone

B. Acetone + ethanol

C. Acetone + chloroform

D. Water + ethanol

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_e0BpudXKloOr
https://dl.doubtnut.com/l/_B91ncmIA90wo


64. Isotonic solutions have

A. vapour pressure

B. osmotic pressure

C. boiling point

D. freezing point

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_i0NC1FSiRQta


65. Explain any two functions of water for

living organisms?

Watch Video Solution

66. Which of the following experimental

methods is adopted to determine osmotic

pressure?

A. Ostwald method

B. Berkely-Hartley method

https://dl.doubtnut.com/l/_tLS0rZdqYh55
https://dl.doubtnut.com/l/_sfiZ4fqaKzCd


C. Solvay's method

D. Haber's method

Answer: B

Watch Video Solution

67. Which property is used for determination

of molar mass of colloids, polymers and

proteins

A. Diffusion pressure

https://dl.doubtnut.com/l/_sfiZ4fqaKzCd
https://dl.doubtnut.com/l/_4rgfyino9Coe


B. Atmospheric pressure

C. osmotic pressure

D. turgor pressure

Answer: C

Watch Video Solution

68. An aqueous solution of methanol has

vapour pressure

A. Equal to that of water

https://dl.doubtnut.com/l/_4rgfyino9Coe
https://dl.doubtnut.com/l/_I5yWg066iaBw


B. equal to that of methanol

C. more than that of water

D. less than that of water

Answer: C

Watch Video Solution

69. Which has the lowest boiling point at 1 atm

pressure ?

A. 0.1 M KCI

https://dl.doubtnut.com/l/_I5yWg066iaBw
https://dl.doubtnut.com/l/_mrDi8dga7mKO


B. 0.1 M Urea

C. 0.1 M 

D. 0.1 M 

Answer: B

Watch Video Solution

CaCl2

AlCl3

70. Osmotic pressure of a solution is 0.0821

atm at temperature of 300 K. The

concentration of solution in  will bemol/litre

https://dl.doubtnut.com/l/_mrDi8dga7mKO
https://dl.doubtnut.com/l/_QkEuQyQ6OI0S


A. 0.33

B. 0.666

C. 

D. 3

Answer: C

Watch Video Solution

0.3 × 10− 2

71. Ethanol is an organic compound yet it is

freely miscible with water.Explain.

https://dl.doubtnut.com/l/_QkEuQyQ6OI0S
https://dl.doubtnut.com/l/_1hLBCYf46NSi


A. ethanol

B. ether

C. urea

D. none of these

Answer: A

Watch Video Solution

72. For exothermic dissolution process,

solubility of solid with increase in

temperature.

https://dl.doubtnut.com/l/_1hLBCYf46NSi
https://dl.doubtnut.com/l/_WUGVPjKth9uK


A. increases

B. decreases

C. remains same

D. first increases and decreases

Answer: B

Watch Video Solution

73. The molal elevation constant depends

upon

https://dl.doubtnut.com/l/_WUGVPjKth9uK
https://dl.doubtnut.com/l/_wq2DTEeBzHaJ


A. nature of solute

B. nature of the solvent

C. vapour pressure of the solution

D. enthalpy change

Answer: B

Watch Video Solution

74. Solubility of gases in liquids decreases with

increase in

https://dl.doubtnut.com/l/_wq2DTEeBzHaJ
https://dl.doubtnut.com/l/_kK9zUNZiFwlK


A. pressure

B. temperature

C. osmotic pressure

D. density

Answer: B

Watch Video Solution

75. What is 4R principle?

A. Hoffman principle

https://dl.doubtnut.com/l/_kK9zUNZiFwlK
https://dl.doubtnut.com/l/_mcSVDqwazrBw


B. quantum principle

C. lechatelier's principle

D. atomic principle

Answer: C

Watch Video Solution

76. Components in binary solutions

A. 4

B. 2

https://dl.doubtnut.com/l/_mcSVDqwazrBw
https://dl.doubtnut.com/l/_KG1sG6G4hLQg


C. 1

D. 3

Answer: B

Watch Video Solution

77. Solutions are mixtures of two or more than

two components.

A. heterogeneous

B. homogenous

https://dl.doubtnut.com/l/_KG1sG6G4hLQg
https://dl.doubtnut.com/l/_5R2YNo2MLlM2


C. hetero trophic

D. homologous

Answer: B

Watch Video Solution

78. Molal clevation constant is also called as

A. Cryoscopic Constant

B. gas constant

C. Ebull ioscopic constant

https://dl.doubtnut.com/l/_5R2YNo2MLlM2
https://dl.doubtnut.com/l/_KnXaD6DdcWu6


D. freezing point depression constant

Answer: C

Watch Video Solution

79. Colloidal solution can be purified by :

A. concentration

B. density

C. volume

D. mass

https://dl.doubtnut.com/l/_KnXaD6DdcWu6
https://dl.doubtnut.com/l/_YgDfYvYVNSIr


Answer: A

Watch Video Solution

80. Why does water split on the floor

disappear after some time?

Watch Video Solution

81. Molarity of expressed in

A. L/mol

https://dl.doubtnut.com/l/_YgDfYvYVNSIr
https://dl.doubtnut.com/l/_g6fL9k82DiqQ
https://dl.doubtnut.com/l/_99sxCkin1GSG


B. mol/L

C. mol/1000 g

D. g/L

Answer: B

Watch Video Solution

82. Which one is correct?

A. Molality change with temperature

https://dl.doubtnut.com/l/_99sxCkin1GSG
https://dl.doubtnut.com/l/_dHC4UxRG2BT3


B. Molality does not change with

temperature

C. Molarity does not change with

temperature

D. Normality, does not change with

temperature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dHC4UxRG2BT3


83. What is the molarity of 0.2N 

solution ?

A. 0.1 M

B. 0 M

C. 0.4 M

D. 0.2 M

Answer: A

Watch Video Solution

Na2CO3

https://dl.doubtnut.com/l/_oc41JxdBRBzD
https://dl.doubtnut.com/l/_T8CyaGka4OG0


84. Out of the following which one is not an

example of a solution

A. Air

B. Brass

C. Amalgam

D. Benzene in water

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_T8CyaGka4OG0


85. Solubility of gas in liquid depends upon

A. The nature of gas

B. the temperature

C. the nature of the solvent

D. All of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_oX8NUuQFufXZ


86. The density of 2.05 M acetic acid in water is

`1.02 g/ml . Calculate the molality of solution.

A. 3.29

B. 0.229

C. 22.9

D. 2.29

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_WY5kmNCNEptS
https://dl.doubtnut.com/l/_pfyU7S7Gfrq2


87. What is the relation between normality and

molarity of given solution of sulphuric acid ?

A. Normality = 1/molarity

B. Normality= molarity/2

C. Normality =  molarity

D. None of the above.

Answer: C

Watch Video Solution

2 ×

https://dl.doubtnut.com/l/_pfyU7S7Gfrq2


88. Which chemical is used for clearing snow

on the roads ?

A. NaCl

B. 

C. both (a) and (b)

D. none

Answer: C

Watch Video Solution

CaCl2

https://dl.doubtnut.com/l/_p9gBqR2OsETU
https://dl.doubtnut.com/l/_ycXZXGo2fBkk


89. For solutes which do not undergo any

association or dissociation in a solute, Van't

Hoff factor (i) will be

A. less than 1

B. more than 1

C. equal to 1

D. zero

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_ycXZXGo2fBkk
https://dl.doubtnut.com/l/_ISsRUDdjbvOX


90. Solubility of a substance is its amount that

can be dissolved in a specified amount of

solvent at a specific ................

A. minimum, pressure

B. maximum, temperature

C. constant, volume

D. average, mass

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ISsRUDdjbvOX


91. Molal freezing point depression constant is

also called ..........

A. Ebullioscopic constant

B. molal elevation constant

C. Cryoscopic constant

D. Henry's constant

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_97Ks053g0FgJ
https://dl.doubtnut.com/l/_XjTafZVJKbmA


92. A liquid is in equilibrium with its vapour at

its boiling point. On the average, the

molecules in the two phases have equal.

A. potential energy

B. kinetic energy

C. total energy

D. intermolecular forces

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XjTafZVJKbmA
https://dl.doubtnut.com/l/_B0ld6u7Oemas


93. Vapour pressure of dilute aq. solution of

glucose is 750 mm of Hg at 373 K. The mole

fraction of the solute is (  water = 760 mm

of Hg)

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

p∘

1/75

75/76

1/76

1/10

https://dl.doubtnut.com/l/_B0ld6u7Oemas


94. Which of the following is a colligative

property ?

A. vapour pressure

B. relative lowering in vapour pressure

C. lowering in vapour pressure

D. all of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_B0ld6u7Oemas
https://dl.doubtnut.com/l/_hVWgWf4YHOWl


95. Which one of the following binary liquid

mixtures exhibits negative deviation from

Raoult's law?

A. n-Hexane-n-Heptane

B. Chloroform-Acetone

C. Carbon disulphide-Acetone

D. Bromocthane - Chloroethene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Z8W0IJQBp01A


96. Constant boiling mixtures are called

A. ideal solution

B. Azeotropes

C. isotonic solution

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_jmKj7hQvOrgx


97. A pressure cooker reduces cooking time

because :

A. heat is more evenly distributed

B. the high pressure tend to rises the food

C. the boiling point of food under pressure

is elevated.

D. the boiling point of water in cooker is

depressed.

Answer: C

https://dl.doubtnut.com/l/_IkUExW689Ske


Watch Video Solution

98. At  , the vapour pressure of a

solution of 6.5 g of solute in 100 g of water is

732 mm. If  is 0.52 klm, the boiling point of

solution will be:

A. 380.4 K

B. 376.2 K

C. 373.5 K

D. 354.7 K

100∘ C

kb

https://dl.doubtnut.com/l/_IkUExW689Ske
https://dl.doubtnut.com/l/_X4RYvMq8JAHI


Answer: B

Watch Video Solution

99. Comphor is often used in molecules mass

determination bacause

A. it has a high Cryoscopic constant

B. it is volatile

C. it is solvent for organic substance

D. it is readily available

https://dl.doubtnut.com/l/_X4RYvMq8JAHI
https://dl.doubtnut.com/l/_oqqxMe4UViq9


Answer: A

Watch Video Solution

100. A 0.004 M solution of sodium sulphate is

isotonic with .010 M solution of glucose. The

apparent percentage dissociation sodium

sulphate is

A. 

B. 

C. 

25 %

50 %

75 %

https://dl.doubtnut.com/l/_oqqxMe4UViq9
https://dl.doubtnut.com/l/_2TrnmfQsDagu


D. 

Answer: C

Watch Video Solution

85 %

101. Which of the following expression is

useful in relating concentration with its

vapour pressure

A. Mole fraction

B. ppm

https://dl.doubtnut.com/l/_2TrnmfQsDagu
https://dl.doubtnut.com/l/_f0F963W3l2rb


C. mass percentage

D. molality

Answer: A

Watch Video Solution

102. At equilibrium the rate of dissolution of a

solid solute in a volatile liquid solvent is

A. less then the rate of crystallisation

B. greater then the rate of crystallisation

https://dl.doubtnut.com/l/_f0F963W3l2rb
https://dl.doubtnut.com/l/_uk5OayltzVM9


C. equal to the rate of crystallisation

D. Zero

Answer: C

Watch Video Solution

103. For a molar solution of NaCl in water at

 and  pressure shows that:

A. molality=normality

B. molarity= normality

25∘ C 1atm

https://dl.doubtnut.com/l/_uk5OayltzVM9
https://dl.doubtnut.com/l/_MzUSr9OVCFJh


C. molarity = mole fraction

D. normality=mole fraction

Answer: B

Watch Video Solution

104. Maximum amount of a solid solute that

can be dissolved in a specificd amount of a

given liquid solvent does not depend upon

A. Temperature

https://dl.doubtnut.com/l/_MzUSr9OVCFJh
https://dl.doubtnut.com/l/_OfkTeg0PTzKf


B. Nature of solute

C. Pressure

D. Nature of solvent.

Answer: C

Watch Video Solution

105. Which of the following is a colligative

property?

A. Melting point

https://dl.doubtnut.com/l/_OfkTeg0PTzKf
https://dl.doubtnut.com/l/_n2iOAUn4EVij


B. Osmotic pressure

C. Freezing point

D. Sublimation temperature

Answer: B

Watch Video Solution

106. At the given temperature, osmotic

pressure of a concentrated solution of

substances

https://dl.doubtnut.com/l/_n2iOAUn4EVij
https://dl.doubtnut.com/l/_BZkYHWtiiCjN


A. is higher than that of a dilute solution

B. is lower than that of a dilute solution

C. is same as that of a dilute solution

D. cannot be compared with that of a

dilute solution.

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_BZkYHWtiiCjN


107. What happens to the vapour pressure of a

liquid when a non-volatile solute is added to it

A. increases

B. decreases

C. remains same

D. first increases and then decreases

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_iNRDth0hmvZ0
https://dl.doubtnut.com/l/_aktyVygbh1hk


108. Write the features of desert plants?

Watch Video Solution

109. If  is the normal molecules mass

and a is the degree of ionization of

, then the abnormal molecules

mass of the complex in the solution will be:

A. Hypotonic to blood

B. Isotonic to blood

C. hypertonic to blood

Mnormal

K3[Fe(CN)6]

https://dl.doubtnut.com/l/_aktyVygbh1hk
https://dl.doubtnut.com/l/_Lo3xacQmgvd2


D. equimolar to blood

Answer: B

Watch Video Solution

110. A solution of solute X'in benzene boils at

 higher than benzene. What is the

molality of the solution ? 

(  for benzene = 2.52 K/m)

A. 0.05

0.126K

Kb

https://dl.doubtnut.com/l/_Lo3xacQmgvd2
https://dl.doubtnut.com/l/_CYGzzHtvlIUR


B. 2

C. 1

D. 20

Answer: A

Watch Video Solution

111. The osmotic pressure of 0.2 molar solution

of urea at  (R=0.082 litre atm 

 is

27∘ C

mol − 1K − 1)

https://dl.doubtnut.com/l/_CYGzzHtvlIUR
https://dl.doubtnut.com/l/_3eeUBebwiJaB


A. 4.92 atm

B. 1 atm

C. 0.2 atm

D. 27 atm

Answer: A

Watch Video Solution

112. Which of the following solution shows

maximum depression in freezing point.

https://dl.doubtnut.com/l/_3eeUBebwiJaB
https://dl.doubtnut.com/l/_eXNUJGQJzjls


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0.5MLi2SO4

0.5MNaCl

0.5MAl2(SO4)3

0.5MBaCl2

113. The number of moles of NaCl in 3 litres of

3 M solution is:

https://dl.doubtnut.com/l/_eXNUJGQJzjls
https://dl.doubtnut.com/l/_zYWowMHoawVa


A. 1

B. 3

C. 6

D. 27

Answer: C

Watch Video Solution

114. The two solutions A and B are separated

by semipermeable membrane. If the solvent

flows from A to B :

https://dl.doubtnut.com/l/_zYWowMHoawVa
https://dl.doubtnut.com/l/_lo11DjRnQnQA


A. A is more concentrated than B

B. A is less concentrated than B

C. Both A and B are of same concentration

D. None of these

Answer: B

Watch Video Solution

115. Explain the adaptation of animals to live in

mountain region?

https://dl.doubtnut.com/l/_lo11DjRnQnQA
https://dl.doubtnut.com/l/_fPN4032FmH91


Watch Video Solution

116. The vapour pressure of an aqueous

solution of glucose is 750 mm of mercury at

. Mole fraction of solute will be

A. decrease in molality

B. decrease in molarity

C. decrease in mole fraction

D. decrease in mass percentage

Answer: B

100∘ C

https://dl.doubtnut.com/l/_fPN4032FmH91
https://dl.doubtnut.com/l/_awQMvjrAW0gN


Watch Video Solution

117. Which law states the relation between

solubility of gas in liquid at constant

temperature and external pressure ?

A. Raoult's law

B. Van't Hoff Boyle's law

C. Henry's law

D. van't Hoff Charle's law

Answer: C

https://dl.doubtnut.com/l/_awQMvjrAW0gN
https://dl.doubtnut.com/l/_In6CYVa2Ylxd


Watch Video Solution

118. Decompression sickness describing a

condition arising from dissolved. Gases

coming out of solution into bubbles inside the

body resulting in bursting of capillaries is

called

A. Anoxia

B. Hypoxia

C. Edemna

https://dl.doubtnut.com/l/_In6CYVa2Ylxd
https://dl.doubtnut.com/l/_r24z1IyINzIL


D. Bends

Answer: D

Watch Video Solution

119. Calculate the depression in the freezing

point of water when 10 g of

 is added to 250 g of

water. , 

.

A. 269.768

CH3CH2CHClCOOH

Ka = 1.4x10− 3

Kf = 1.86KkgmoL− 1

https://dl.doubtnut.com/l/_r24z1IyINzIL
https://dl.doubtnut.com/l/_IrViF9Ef4je5


B. 271.235

C. 270.768

D. 200.578

Answer: C

Watch Video Solution

120. Which one of the following pairs of

solution can we expect to be isotonic at the

same temperature?

https://dl.doubtnut.com/l/_IrViF9Ef4je5
https://dl.doubtnut.com/l/_ED5G5VxSRP6k


A. 

B. 

C. 0.1 M NaCl and 0.1 M 

D. 

Answer: D

Watch Video Solution

0.1M urea and 0.1MNaCl

0.1M urea and 0.1MMgCl2

Na2SO4

0.1MCa(NO3)2 and 0.1MNa2SO4

121. An aqueous solution is 1.00 molalin KI.

Which change will cause the vapour pressure

of the solution to increase ?


https://dl.doubtnut.com/l/_ED5G5VxSRP6k
https://dl.doubtnut.com/l/_VpRafBia8LTI


a) addition of water


b) addtion of NaCl


c) addtion of  

d) Addition of 1.0 molal KI

A. addition of 1.00 molal KI

B. addition of water

C. addition of NaCI

D. addition of 

Answer: B

Watch Video Solution

Na2So4

Na2SO4

https://dl.doubtnut.com/l/_VpRafBia8LTI


122.  are the vapour pressure of

pure liquid components A and B respectively

of an ideal binary solution. If  represent the

mole fraction of component A, then the total

pressure of the solution will be

A. 

B. 

C. 

D. 

PA and PB

XA

PA + XA(PB − PA)

PA + XA(PA − PB)

PB + XA(PB − PA)

PB + XA(PA − PB)

https://dl.doubtnut.com/l/_VpRafBia8LTI
https://dl.doubtnut.com/l/_txzYVNvNKrE6


Answer: D

Watch Video Solution

123. At what partial pressure, oxygen will have

a solubility of  in water at 293 K?

Henrys law constant  of  in water at

303 K is 46.82 k bar.

(Assume the density of the solution to be and

same as that of water)

A. 

0.06gL− 1

(kH) O2

1 × 104

https://dl.doubtnut.com/l/_txzYVNvNKrE6
https://dl.doubtnut.com/l/_7SLNqPtlnvhC


B. 

C. 

D. 

Answer: C

Watch Video Solution

2 × 104

1 × 10− 5

2 × 10− 5

124. If the elevation in boiling point of a

solution of 10 gm of solute (mol. Wt. = 100) in

100 gm of water is , the ebullioscopic

constant of water is

ΔTb

https://dl.doubtnut.com/l/_7SLNqPtlnvhC
https://dl.doubtnut.com/l/_vkdO9mDq1rUc


A. Molecular mass of X is less than

molecular mass of Y

B. Y is undergoing dissociation while X

undergoes no charge

C. X is undergoing dissociation in water

D. molecular mass of X is greater than

molecular mass of Y.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vkdO9mDq1rUc
https://dl.doubtnut.com/l/_JYHuKMsB5AEy


125. The density of 2.0 M solution of solute is

1.2 gm/ml. If the molecular mass of solute is

100 gm  then the molality of the

solution is

A. 2.0 m

B. 1.2 m

C. 1.0 m

D. 0.6 m

Answer: A

Watch Video Solution

mol − 1

https://dl.doubtnut.com/l/_JYHuKMsB5AEy


126. The Van't Hoff factor i for a dilute aqueous

solution of the strong electrolyte barium

hydroxide is

A. 0

B. 1

C. 2

D. 3

Answer: D

https://dl.doubtnut.com/l/_JYHuKMsB5AEy
https://dl.doubtnut.com/l/_JbqwgEBXeQef


Watch Video Solution

127. 31 gm of ethylene glycol  is

mixed with 500 gm of solvent.

. What is the freezing

point of the solution in K ? (freezing point of

solvent = 273K)

A. 272

B. 271

C. 270

D. 274

(C2H6O2)

(Kf = 2Kkgmol − 1)

https://dl.doubtnut.com/l/_JbqwgEBXeQef
https://dl.doubtnut.com/l/_3wsJSZvMkIoP


Answer: A

Watch Video Solution

128. Calculate the temperature at which a

solution containing 54 gms of glucose

 in 250 gms of water will freeze. 

for water . 

A. 7.6

B. 

(C6H12O6) Kf

(1. 86Kkgmol− 1)

76.0

https://dl.doubtnut.com/l/_3wsJSZvMkIoP
https://dl.doubtnut.com/l/_msFGKOiFt5mW


C. 

D. 759

Answer: C

Watch Video Solution

752.4

129. Which one of the following statements

regarding Henry's Law is not correct :

A. The value of  increases with the

nature of gas

KH

https://dl.doubtnut.com/l/_msFGKOiFt5mW
https://dl.doubtnut.com/l/_cexAfrO0pKJ8


B. Higher the value of  higher the

solubility of gas in the liquid

C. The partial pressure of the gas in vapour

pliase is proportional to the mole

fraction of the gas in the solution

D. Different gases have different ky value at

the same temperature.

Answer: B

Watch Video Solution

KH

https://dl.doubtnut.com/l/_cexAfrO0pKJ8
https://dl.doubtnut.com/l/_niaNChAgRiUJ


130. Dissolving 120g of urea (mol.wt 60) in

1000g of water gave a solution of density

1.15g/ml. The molarity of solution is:

A. 1.78 M

B. 

C. 

D. 

Answer: C

Watch Video Solution

2.00M

2.05M

2.22M

https://dl.doubtnut.com/l/_niaNChAgRiUJ


1 Mark Question

1. Define a solution.

Watch Video Solution

2. Define aqueous solution ?

Watch Video Solution

https://dl.doubtnut.com/l/_k6mFRjxQjtwo
https://dl.doubtnut.com/l/_M89rlaa3LFcV


3. Define concentration of a solution. How is

concentration of a solution expressed ?

Watch Video Solution

4. Define 

Parts per million

Watch Video Solution

5. What is the solubility of a substance ?

https://dl.doubtnut.com/l/_zCCXfh0TEPoM
https://dl.doubtnut.com/l/_dn5MS6wGWgei
https://dl.doubtnut.com/l/_Wys5fC3BjATq


Watch Video Solution

6. What is dissolution process ?

Watch Video Solution

7. What is crystallisation process ?

Watch Video Solution

8. What is saturated solution ?

https://dl.doubtnut.com/l/_Wys5fC3BjATq
https://dl.doubtnut.com/l/_hsJj6vphKAOh
https://dl.doubtnut.com/l/_QjG1nHr1kpkG
https://dl.doubtnut.com/l/_EyqCUrzZSHLS


Watch Video Solution

9. The substances whose  = +ive

(positive) what will effect of temperature on

their solubility?

Watch Video Solution

ΔsolH

10. What is transition temperature ?

Watch Video Solution

https://dl.doubtnut.com/l/_EyqCUrzZSHLS
https://dl.doubtnut.com/l/_TfYsObl1hE1f
https://dl.doubtnut.com/l/_ABvXFY1BAlIK
https://dl.doubtnut.com/l/_OXBjgZLzz4hY


11. Pressure has no effect on the solubility of

solid. Why?

Watch Video Solution

12. Define Henry law ?

Watch Video Solution

13. Define Henry's Law constant ?

Watch Video Solution

https://dl.doubtnut.com/l/_OXBjgZLzz4hY
https://dl.doubtnut.com/l/_DDVicVulnbDB
https://dl.doubtnut.com/l/_Klzx7oKlT2I0


14. Write the significance of  (Henry Law

constant) ?

Watch Video Solution

KH

15. What is meant by solid in solid solutions ?

Give two examples

Watch Video Solution

https://dl.doubtnut.com/l/_Klzx7oKlT2I0
https://dl.doubtnut.com/l/_I2v6wPXsQ2p4
https://dl.doubtnut.com/l/_a0td1uVt2Ho3


16. Define substitutional solid solution.

Watch Video Solution

17. (a) Define vapour pressure 

(b) Explain why vapour pressure of a solvent

lowered by the addition of non-volatile solute

?

Watch Video Solution

https://dl.doubtnut.com/l/_eqy1yOBYnPJ0
https://dl.doubtnut.com/l/_TsXwafbvyleN


18. State and explain : 

Raoult's law for volatile solute.

Watch Video Solution

19. State and explain : 

Raoult's law for non-volatile solute.

Watch Video Solution

https://dl.doubtnut.com/l/_VESu2Xa6F893
https://dl.doubtnut.com/l/_zFHFusZ90aXh


20. When does the Raould's law become a

special case of Henry's law ?

Watch Video Solution

21. What is non ideal solution ?

Watch Video Solution

22. Write down the properties of ideal solution

?

https://dl.doubtnut.com/l/_a9ySWGjlGx9I
https://dl.doubtnut.com/l/_6mPKok2eHGbn
https://dl.doubtnut.com/l/_6GgLygEyktHJ


Watch Video Solution

23. Which solution shows +ve(positive)

deviation from the ideal behaviour ?

Watch Video Solution

24. Is the vapour pressure for the solution

showing Positive deviation from ideal

behaviour is more or less ?

Watch Video Solution

https://dl.doubtnut.com/l/_6GgLygEyktHJ
https://dl.doubtnut.com/l/_yD8Rg9kg7h5e
https://dl.doubtnut.com/l/_OS6qFGal3xxW


25. What is dissolution process ?

Watch Video Solution

26. What are Azeotropes ?

Watch Video Solution

27. Which solution show minimum boiling

azeotropes ?

https://dl.doubtnut.com/l/_OS6qFGal3xxW
https://dl.doubtnut.com/l/_GGzac3up7oYG
https://dl.doubtnut.com/l/_juAppGw7edbQ
https://dl.doubtnut.com/l/_eVENQCllhN0Y


Watch Video Solution

28. What are colligative properties ? Name

four such properties.

Watch Video Solution

29. Define molar elevation constant.

Watch Video Solution

https://dl.doubtnut.com/l/_eVENQCllhN0Y
https://dl.doubtnut.com/l/_0ABwvJiABIHB
https://dl.doubtnut.com/l/_hXqEyS3K06UX


30. Write down the units of  ?

Watch Video Solution

Kb

31. Define osmosis. What is the difference

between osmosis and diffusion ?

Watch Video Solution

32. What is Osmotic pressure?

Watch Video Solution

https://dl.doubtnut.com/l/_NRMwgv6i0SDG
https://dl.doubtnut.com/l/_DQOMsPSOXj2m
https://dl.doubtnut.com/l/_CYaCbpGve7u8


33. What are isotonic,hypertonic and

hypotonic solutions.

Watch Video Solution

34. What is Hypotonic solution ? Also give

example ?

Watch Video Solution

https://dl.doubtnut.com/l/_CYaCbpGve7u8
https://dl.doubtnut.com/l/_FN9n5qxDFhQh
https://dl.doubtnut.com/l/_BQcvBiHdd7zA


35. Is reverse osmosis takes place by applying

pressure more than Osmotic pressure ?

Watch Video Solution

36. Why is one molar solution more

concentrated than one molal solutions ?

Watch Video Solution

https://dl.doubtnut.com/l/_nFPYPNrZ2lIR
https://dl.doubtnut.com/l/_iQmGhSePXgM7


37. Colligative properties are inversely

proportional to the molar mass ?

Watch Video Solution

38. What is Van't Hoff factor ?

Watch Video Solution

39. The van't Hoff factor  for an electrolyte

which undergoes dissociation and association

i

https://dl.doubtnut.com/l/_tMNrHPJbGEfu
https://dl.doubtnut.com/l/_pyZN7iCyr7cA
https://dl.doubtnut.com/l/_6FC4KAqYQKCZ


3 Mark Question

in solvents respectively are:

Watch Video Solution

40. If applied pressure is more than osmotic

pressure then which process takes place ?

Watch Video Solution

https://dl.doubtnut.com/l/_6FC4KAqYQKCZ
https://dl.doubtnut.com/l/_FHqsbfXe6puS


1. Write down the factors affecting the

solubility of a solid in liquid.

Watch Video Solution

2. What are the factors affecting the solubility

of gas in liquid ?

Watch Video Solution

3. What are the limitations of Henry's Law ?

https://dl.doubtnut.com/l/_Otf72iLqHOLL
https://dl.doubtnut.com/l/_xb2yPHjks0We
https://dl.doubtnut.com/l/_N1dN9q4DDbft


Watch Video Solution

4. Why  gas is filled in soda bottles ?

Watch Video Solution

CO2

5. Vapour pressure of liquid depends on which

factors ?

Watch Video Solution

https://dl.doubtnut.com/l/_N1dN9q4DDbft
https://dl.doubtnut.com/l/_bJ7EWB871eKZ
https://dl.doubtnut.com/l/_57COhSyVHNUB


6. Why is the vapour pressure of a solvent

lowered on the addition of non-volatile solute

into it ?

Watch Video Solution

7. Explain the process- Rainwater harvesting?

Watch Video Solution

8. Define first colligative property?

https://dl.doubtnut.com/l/_Qbzhtb9QgyUw
https://dl.doubtnut.com/l/_8PMltuSWu1BA
https://dl.doubtnut.com/l/_9HcSFU6TXIdD


Watch Video Solution

9. Write down the formula to calculate the

relative Molar mass from relative lowering in

vapour pressure ?

Watch Video Solution

10. What is a semi-permeable membrane ?

Watch Video Solution

https://dl.doubtnut.com/l/_9HcSFU6TXIdD
https://dl.doubtnut.com/l/_HKJH8T29l0HA
https://dl.doubtnut.com/l/_LATs2krJJLND
https://dl.doubtnut.com/l/_ufBSXA7bNkOv


11. What are the conditions to get accurate

value of Molar mass from Colligative

Properties?

Watch Video Solution

12. What concentration of NaCl is isotonic with

fluids present in Human RBC ?

Watch Video Solution

https://dl.doubtnut.com/l/_ufBSXA7bNkOv
https://dl.doubtnut.com/l/_tRnI9arEYOJQ


13. For what solute did the values of Molar

mass is more or value of colligative value is

less?

Watch Video Solution

14. What is degree of dissociation of

association ?

Watch Video Solution

https://dl.doubtnut.com/l/_hHgDeq4sG3WQ
https://dl.doubtnut.com/l/_BSVh9VGDjq7s


15. Do molality and mole fraction changes with

temperature ?

Watch Video Solution

16. Why aquatic species feel more comfortable

in cold water than hot water ?

Watch Video Solution

https://dl.doubtnut.com/l/_VsPaEvPu0pVY
https://dl.doubtnut.com/l/_u2CewcQVVXqi


17. Which colligative property is preferred for

the molecular mass determination of

macromolecules?

Watch Video Solution

18. Show that relative lowering in vapour

pressure is a colligative property

Watch Video Solution

https://dl.doubtnut.com/l/_diHMX81H3uvK
https://dl.doubtnut.com/l/_H0fOhrowjaAi


19. How will you show that elevation in boiling

point is a colligative property?

Watch Video Solution

20. How will you show that depression in

freezing point is a colligative property?

Watch Video Solution

21. Osmotic Pressure .(π)

https://dl.doubtnut.com/l/_ajfeno8OPWuV
https://dl.doubtnut.com/l/_7hiFjjiw409x
https://dl.doubtnut.com/l/_egYaG0VE4jt7


Watch Video Solution

22. Write differences between ideal and non-

ideal solutions.

Watch Video Solution

23. Write differences between ideal and non-

ideal solutions.

Watch Video Solution

https://dl.doubtnut.com/l/_egYaG0VE4jt7
https://dl.doubtnut.com/l/_A9TfWBM45k3l
https://dl.doubtnut.com/l/_GOMsdEvns35L


Numerical Questions 3 Marks

1. Commercially available sample of sulphuric

acid is 15%  by weight (density=1.10g 

) . Calculate the molarity of the solution.

Watch Video Solution

H2SO4

mL− 1

2. Concentrated  has a density 1 . 9

g/mL and is  by mass. Calculate

the molarity of the acid

Watch Video Solution

H2SO4

99 % H2SO4

https://dl.doubtnut.com/l/_BqT0jg6UYKx9
https://dl.doubtnut.com/l/_nZQP3MP8S3li


3. Calculate the mass of a non-volatile solute

(molar mass 40 g mol^(-1)) which should be

dissolved in 114 g octane to reduce its vapour

pressure to 80%.

Watch Video Solution

4. 18 g of glucose is dissolved in 1 kg of water.

At what temperature will the solution boil ? (

 for water is 0.52 K kg )Kb mol − 1

https://dl.doubtnut.com/l/_nZQP3MP8S3li
https://dl.doubtnut.com/l/_bOdcAeuCUypl
https://dl.doubtnut.com/l/_o6M7MzxqrMew


Watch Video Solution

5. How many grams of ethylene glycol (molar

mass = 62) should be added to 10 kg of water,

so that the resulting solution freezes at

 (  for water = 1.86 K ).

Watch Video Solution

−10∘ C Kf mol− 1

6. Benzene and toluene form nearly ideal

solution . At 313 K the vapour pressure of

benzene and toluene are 160 mm and 60 mm

https://dl.doubtnut.com/l/_o6M7MzxqrMew
https://dl.doubtnut.com/l/_U23Y4Bl8jMbT
https://dl.doubtnut.com/l/_wn4Wdujna7qs


of Hg respectively. Calculate the total pressure

of the solution made by mixing their equal

masses at 313 K.

Watch Video Solution

7. At 298 K the vapour pressure of pure

benzene  is 0.256 bar and vapour

pressure of pure toluene,  is 0.925 bar. If

the mole fraction of benzene in solution is 0 .

40 , find the total vapour pressure of solution.

C6H6

C6H8

https://dl.doubtnut.com/l/_wn4Wdujna7qs
https://dl.doubtnut.com/l/_0xRD9R91xFTQ


Also find the mole fraction of toluene in

vapour phase

Watch Video Solution

8. 200  of an aqueous solution of a protein

contains 1.26g of the protein . The osmotic

pressure of such a solution at 300K is found

to be  bar. Calculate the molar

mass of the protein (R=0.083 L bar 

)

Watch Video Solution

cm3

2.7 × 10− 3

mol− 1K − 1

https://dl.doubtnut.com/l/_0xRD9R91xFTQ
https://dl.doubtnut.com/l/_NTZIzsLFeVQS


9. 4 . 0 g of NaOH are contained in one

decilitre of a solution. Calculate the molarity

and molality of this solution . 

(Density of solution )

Watch Video Solution

= 1. 038gmL− 1

10. In winter, the normal temperature in

Dharmshala is  C Is a  by mass of an

aqueous solution of ethylene glycol (molar

−8∘ 30 %

https://dl.doubtnut.com/l/_NTZIzsLFeVQS
https://dl.doubtnut.com/l/_o9FwBPRdFUwg
https://dl.doubtnut.com/l/_fqTPEy7Bp0Ik


mass = 62) suitable for car radiator .  for

water is 1 . 86 K/m

Watch Video Solution

Kf

11. Calculate mole fraction of ethanol and

water in a sample of rectified spirit which

contains 92% ethanol by mass.

Watch Video Solution

https://dl.doubtnut.com/l/_fqTPEy7Bp0Ik
https://dl.doubtnut.com/l/_xtMiz9w6uyp8


12. 19.5 g of  is dissolved in 500

g of water. The depression in the freezing

point of water observed is 1.0° C. Calculate the

van’t Hoff factor and dissociation constant of

fluoroacetic acid.

Watch Video Solution

CH2FCOOH

13. 4 . 0 g of NaOH are contained in one

decilitre of a solution. Calculate the molarity

https://dl.doubtnut.com/l/_5Xpe3guHgdOm
https://dl.doubtnut.com/l/_belDRPkFYSqb


and molality of this solution . 

(Density of solution )

Watch Video Solution

= 1. 038gmL− 1

14. At some temperature the vapour pressure

of pure benzene,  is 0 . 256 bar and

vapour pressure of toluene,  is 0 . 0

925 bar, if the mole fraction of toluene in a

solution is 0 . 60 

(i) What is the total vapour pressure of the

solution ? 

C6H6

C6H5CH3

https://dl.doubtnut.com/l/_belDRPkFYSqb
https://dl.doubtnut.com/l/_hjja500jcrfl


(ii) Calculate the composition of the vapour

phase in terms of mole fraction.

Watch Video Solution

15. Vapour pressure of chlolfom  and

dichloromethane  at 298 K are 200

mm Hg and 415 mm Hg respectively. Calculate

the vapour pressure of the solution prespared

by miximng 25 g of  and 45 g of 

 at 298 K. Also find the mole fraction

of  in the vapour phase .

(CHCI3)

(CH2CI2)

CHCI3

CH2CI2

CHI3

https://dl.doubtnut.com/l/_hjja500jcrfl
https://dl.doubtnut.com/l/_vly3MwFb9WyJ


Watch Video Solution

16. The density of  by mass of KCI

solution in water is  . Calculate

molarity and molality of the solution

Watch Video Solution

10 %

1. 06gmL− 1

17. The vapour pressure of ethanol 

and methanol  are 44.5 and 88.7

mm Hg respectively. An ideal solution is

formed at the same temperature by mixing 60

(C6H5OH)

(CH3OH)

https://dl.doubtnut.com/l/_vly3MwFb9WyJ
https://dl.doubtnut.com/l/_TpPZcKvAHAhp
https://dl.doubtnut.com/l/_LKDhtNmotYvF


g of ethanol and 40 g methanol 

(i) Calculate the total vapour pressure of the

solution 

(ii) Find mole fraction of each component in

vapour phase

Watch Video Solution

18. Addition of 0.643g of a compound to 43.95g

of benzene lowers the freezing point from

C to C. If  for benzene is 5.12K kg5.51∘ 5.03∘ Kf

https://dl.doubtnut.com/l/_LKDhtNmotYvF
https://dl.doubtnut.com/l/_Qbr7ZUhx6ryZ


 , calculate the molar mass of the

compound.

Watch Video Solution

mol− 1

19. 18 g of a compound is dissolved in 10 kg of

water so that the resulting solution freezes at

. If  for water = 1 . 86 K/m . Calculate

the molecular mass of the compound

Watch Video Solution

−8∘ C Kf

https://dl.doubtnut.com/l/_Qbr7ZUhx6ryZ
https://dl.doubtnut.com/l/_GtHv09Yudyhg


20. 35 g of compound is added in 1 kg of water

so that the resulting solution freezes at 

C . If  for water = 1. 86 K/m . Calculate the

molecular mass of the compound

Watch Video Solution

−10∘

Kf

21. Calculate mole fraction of water in a

mixture of 12 g of water and 92 g ethanol.

Watch Video Solution

https://dl.doubtnut.com/l/_TnKyLjGDuw1c
https://dl.doubtnut.com/l/_7NmUKxen0BnA
https://dl.doubtnut.com/l/_oGiV1vdlOUfG


22. In winter, the normal temperature in

Dharmshala is  C Is a  by mass of an

aqueous solution of ethylene glycol (molar

mass = 62) suitable for car radiator .  for

water is 1 . 86 K/m

Watch Video Solution

−8∘ 30 %

Kf

23. Calculate mole fraction of ethanol and

water in a sample of rectified spirit which

contains 92% ethanol by mass.

Watch Video Solution

https://dl.doubtnut.com/l/_oGiV1vdlOUfG
https://dl.doubtnut.com/l/_rv5NtaFsTDfi


24. In winter, the normal temperature in

Kashmir valley is  C . Is a  by mass

of an aqueous solution of ethylene glycol

(molar mass = 62) suitable for car radiator . 

for water is 

Watch Video Solution

−12∘ 25 %

Kf

1. 86Km − 1

25. If 1 .71 g of sugar (molar mass = 342) are

dissolved in  of solution at 300 K, what500cm3

https://dl.doubtnut.com/l/_rv5NtaFsTDfi
https://dl.doubtnut.com/l/_VQiRklYxDv6h
https://dl.doubtnut.com/l/_bcbTMP1L2Xwr


will be its osmotic pressure ?

Watch Video Solution

26. Find mole fraction of ethanol and water in

a sample of rectified spirit which contain 95 %

ethanol by mass.

Watch Video Solution

27. A solution of glucose in water labelled as

10% (W/W). The density of solution is 1.20 g

https://dl.doubtnut.com/l/_bcbTMP1L2Xwr
https://dl.doubtnut.com/l/_aG91OilCZc3r
https://dl.doubtnut.com/l/_FHVzPkZS4FWl


. Calculate mole fraction of each

component in solution.

Watch Video Solution

mL− 1

28. Calculate the osmotic pressure in pascals

exerted by a solution prepared by dissolving 1 .

0 g of polymer of molar mass 1,85,000 in 450

ml of water at  C

Watch Video Solution

37∘

https://dl.doubtnut.com/l/_FHVzPkZS4FWl
https://dl.doubtnut.com/l/_YL5zXaUHyeH3


29. Concentrated  has a density 1 . 9

g/mL and is  by mass. Calculate

the molarity of the acid

Watch Video Solution

H2SO4

99 % H2SO4

30. Calculate the molal elevation constant of

water  . Given that 0 . 1 molar

aquous solution of a substance boiled at

 C

Watch Video Solution

(Kb = ?)

100.052∘

https://dl.doubtnut.com/l/_BMCvSvGzsABu
https://dl.doubtnut.com/l/_I9j9REURg3lO


31. The boiling point of Benzene  is

353.23 K. When 1 . 80 g of a non - volatile

solute was dissolved in 90 g of  the

boiling point is raised to 354 . 11 K. Calculate

the molar mass of solute . 

(Given  for benzene is 2 . 53 K kg  )

Watch Video Solution

(C6H6)

C6H6

Kb mol− 1

https://dl.doubtnut.com/l/_I9j9REURg3lO
https://dl.doubtnut.com/l/_ymB7Ogh8KJuM

